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Explain the difference between speed an
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What is periodic motion ?
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Name three states of 'matter wit ple each. :
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What is diffusion ?
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Compare the comi ibflity of solid, liquid and gas.
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Why does ice float on wate
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State two conditions rece
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What is cell ?
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What is the function of endoplasmic I
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The speed of@creases from 20 km/h to 50 km/h in 10 sec. Find
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. The acceleration of an object v
8-5 m/s Find the distance cov,
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Differentiate between soli i
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Write a short note
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Mention the
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Explain the structure of chromosom
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Draw a labelled diagram o

microscope.
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